ORGANIZATION BLOCK F£R3t:0B1
TITLE=F2 /77 %

BEGIN

Network 1 // MZ5hnmR

/] AR

LDN MO. 0

CALL  SBRO

CALL  SBR1

Network 2 // MZ5hnmR

/] WESERE

LD 12.1
0 M10. 7
AN 12.0
= M10. 7
Network 3

// Gk
LD SMO. 0
LPS

AN T120
TON T120, +600
LPP

AN M10. 1
CALL  SBR2
Network 4

LD M4. 1
TON T50, +50
Network 5

LD T50
LD MO. 0
A 13.0
A MO. 1
OLD

AN M10. 1
= Q0.0
Network 6

/] BENFEIK
LDN M10. 1
LD 12.0
AN MO. 0
LD 12.1
AN MO. 0
OLD

0 M3.0

LD ML. 6



OLD

LD M1.7
A MO.
OLD

LD M2.0
A MO.
OLD

LD M2. 1
A MO. 0
OLD

ALD

AN 11.7
= M3.0
Network 7
LD M3.0
0 T123
0 T125
0 T127
0 T129
TON T110, +50
Network 8
LD T110
LD M20. 0
ON 13.3
0 M2. 4
0 Q0. 1
ALD

AN Q0. 2
AN Q0.3
LD MO. 0
A 13.1
A MO. 2
OLD

AN M2. 2
A 13.1
= Q0. 1
Network 9
LD Q0. 1
A T120
LD C1
CTU C1, +10000
Network 10

LD T110



LD M20. 1

0 M2. 2
ON 13.1
0 Q0. 2
ALD

AN Q0. 1
AN Q0. 3
LD MO. 0
A 13.2
A MO. 3
OLD

AN M2.3
A 13.2
= Q0. 2
Network 11
LD Q0. 2
A T120
LD C2
CTU C2, +10000
Network 12
LD T110
LD M20. 2
0 M2. 3
ON 13.2
0 Q0. 3
ALD

AN Q0. 1
AN Q0. 2
LD MO. 0
A 13.3
A MO. 4
OLD

AN M2. 4
A 13.3
= Q0. 3
Network 13
LD Q0. 3
A T120
LD C3
CTU C3, +10000
Network 14
LDN M10. 7
LPS

MOVW  VW300, VW310



*] +600, VW310
MOVW  VW320, VW330
*] +600, VW330
AN T52

TON T51, VW330
LPP

A T51
TON T52, VW310
Network 15
LDN M10. 7
AN MO. 0
A T51
AN T52
LD MO. 0
A 13.4
A MO. 5
OLD

A 13.4
A 10.1
= Q0. 4
Network 16
LD 10.1
AN MO. 0
= Q0.6
Network 17
LD M3.0

TON T122, +100
TOF T121, 100

Network 18
LD T122
LD MO. 0
A MO. 7
OLD

AN 11.5
= Q1.0
Network 19
LD I1.1
TON T60, 50
Network 20
LD T60
= M22. 1
Network 21
LD Q0. 4

LD MO. 0



A MO. 6

OLD

AN M22. 1
AN 11.6
= Ql.1
Network 22
LD 12.3
0 M4. 6
0 12.4
LD 13.5
0 13.6
ALD

AN M10. 7
AN 12.2
= M4. 6
Network 23
LD M4. 6
LD MO. 0
A ML. 0
OLD

AN M2.5
AN Ql.4
A 13.5
= Q1.2
Network 24
LD M4. 6
LD MO. 0
A MI. 1
OLD

AN M2. 6
AN Q1.2
A 13.6
= Ql.4
Network 25
LD M3.5

TON T123, 50
TOF T124, 50

Network 26
LD T121
AN M3. 1
AN MO. 0
LD ML. 6
AN M3. 1

A MO. 0



OLD

LD Q3.3
AN MO. 0
OLD

LD Q3.7
AN MO. 0
OLD

LD T123
0 Q2.0
A T124
OLD

LD MO. 0
A M5.0
OLD

= Q2.0
Network 27

LD M3. 1
AN M3.5
LD MO. 0
A M5. 1
OLD

= Q2.1
Network 28

LD T121
AN M3. 1
LD Q3.3
AN MO. 0
OLD

LD Q3.7
AN MO. 0
OLD

LD MO. 0
LD M5. 2
0 ML. 6
ALD

OLD

= Q2.2
Network 29

LD T123
0 Q2.3
A T124
LD MO. 0
A M5. 3

OLD



= Q2.3
Network 30
LD M3.6
TON T125, 50
TOF T126, 50

Network 31

LD T121
AN M3. 2
LD MO. 0
AN M3. 2
A ML. 7
OLD

LD Q3.3
AN MO. 0
OLD

LD Q3.7
AN MO. 0
OLD

LD T125
0 Q2.4
A T126
OLD

LD MO. 0
A M5. 4
OLD

= Q2.4
Network 32

LD M3. 2
AN M3. 6
LD MO. 0
A M5. 5
OLD

= Q2.5
Network 33

LD T121
AN M3. 2
LD Q3.3
AN MO. 0
OLD

LD Q3.7
AN MO. 0
OLD

LD MO. 0

LD M5.6



0 ML.7

ALD

OLD

= Q2.6
Network 34

LD T125
0 Q2.7
A T126
LD MO. 0
A M5. 7
OLD

= Q2.7
Network 35

LD M3. 7

TON T127, 50
TOF T128, 50

Network 36
LD T121
AN M3. 3
LD M2.0
AN M3. 3
AN MO. 0
OLD

LD T127
0 Q3.0
A T128
OLD

LD MO. 0
A M6. 0
OLD

= Q3.0
Network 37
LD M3. 3
AN M3. 7
LD MO. 0
A M6. 1
OLD

= Q3.1
Network 38
LD T121
AN M3. 3
LD MO. 0
LD M6. 2

0 M2.0



ALD

OLD

= Q3.2
Network 39
LD T127
0 Q3.3
A T128
LD MO. 0
A M6. 3
OLD

= Q3.3
Network 40
LD M4.0

TON T129, 50
TOF T130, 50

Network 41

LD T121
AN M3. 4
LD M2. 1
AN M3. 4
A MO. 0
OLD

LD T129
0 Q3.4
A T130
OLD

LD MO. 0
A M6. 4
OLD

= Q3.4
Network 42

LD M3. 4
AN M4. 0
LD MO. 0
A M6. 5
OLD

= Q3.5
Network 43

LD T121
AN M3. 4
LD MO. 0
LD M6. 6
0 M2. 1

ALD



OLD

= Q3.6
Network 44

LD T129
0 Q3.7
A T130
LD MO. 0
A M6. 7
OLD

= Q3.7
Network 45

// BKEE BitiadT 40 /M, IMMF s
LD Q0. 1

0 Q0. 2
0 Q0. 3
A T120
LD C10
CTU C10, 2400
Network 46
LD C10

0 M30. 0
AN Cl1

= M30. 0
Network 47

// KR BitHisdT 44 /N, 2MMF S
LD M30. 0

A T120

LD Cl1

CTU Cl1, 240
Network 48

LD C10

0 M30. 1

AN C12

= M30. 1
Network 49

// K BitisdT 48 /M, 1ACF i
LD M30. 1

A T120

LD C12

CTU C12, 480
Network 50

LD C10

0 M30. 2

AN Cl13



= M30. 2
Network 51

// KR BAia4T 52 /e, 2ACF
LD M30. 2

A T120

LD C13

CTU €13, 720

END ORGANIZATION BLOCK
SUBROUTINE_BLOCK i % 4b¥ : SBRO
TITLE=FHE/7 R

BEGIN

Network 1 // MZ5hnmR

/] WEAENL

LD 11.2
0 11.3
0 11.5
0 11.6
0 14.3
0 14. 4
ON 13.1
ON 13.2
ON 13.3
ON 13.5
ON 13.6
ON 13.4
0 I1.1
= M10. 0
Network 2

/] REFL
LDN 13.0
0 14.0
0 14. 1
0 14. 2
ON 14.5
ON 10. 1
0 11.4
S M10.1, 1
Network 3

/) WEKT SR
LD M10. 0
0 M10. 1
= Q0.7
Network 4

// W R



LD Q0. 7

EU

0 Q0.5

AN 10. 3

= Q0.5
Network 5

/] RERAL

LD Q0.6

A M10. 5
EU

R M10.1, 1

END SUBROUTINE BLOCK
SUBROUTINE BLOCK /K %2 ~F-ffiria i1 %5 : SBR1
TITLE=iH 8 = G KIS LRt R, ¥E® 6 R= M E ke y
BEGIN

Network 1 // MZ5hnmR
LDN  MO0.0

MOVW  C1, VW100

-1 €2, VW100
MOVW €1, VW102

-1 €3, VW102
MOVW €2, VW104

-1 €3, VW104
Network 2
LDW<=VW100, 0

oW>  VW100, 2000
LDW<=VW102, 0

oW>  VW102, 2000
ALD

= M20. 0

Network 3

LDW>  VW100, 0

AW<=" VW104, 0

LDW<  VW100, —2000
AW>  VW104, 2000
OLD

= M20. 1

Network 4

LDW>= VW102, 0

W< VW102, -2000
LDW>  VW104, 0

W< VW104, —2000
ALD

= M20. 2



END SUBROUTINE BLOCK

SUBROUTINE BLOCK IF Jz 45 H : SBR2
TITLE=FHE/7 R

BEGIN

Network 1

LD 10.5

TON  T101, 1200

Network 2

// WSS 1 BN ML RE T

LD T101

0 C10

AN MO. 0
LD MO. 0
A ML. 2
0 M3.1
OLD

AN T45

= M3.1

MOVW  VW1110, VW1212

MUL +10, VD1210

TON T41, VW1212
Network 3

LD 10. 6

TON T102, 1200
Network 4

/] WPUERE 2 BN SRR T
LD T102

0 Cl1

AN MO. 0
LD MO. 0
A MIL. 3
0 M3.2
OLD

AN T46

= M3.2

MOVW  VW1112, VW1216

MUL +10, VD1214

TON T42, VW1216
Network 5

LD 10.7

TON T103, 1200
Network 6

// TRIEAS 13N R BERE T
LD T103



0 Cl2

AN MO. 0
LD MO. 0
A M1. 4
0 M3.3
OLD

AN T47

= M3.3

MOVW  VW1114, VW1220

MUL +10, VD1218

TON T43, VW1220
Network 7

LD 11.0

TON T104, 1200
Network 8

// TRIERS 2 FEN R BERE T
LD T104

0 Cl13

AN MO. 0
LD MO. 0
A ML. 5
0 M3. 4
OLD

AN T48

= M3. 4

MOVW  VW1lle, VW1224
MUL +10, VD1222
TON T44, VW1224
Network 9

/] BRBEHENMYIRES, G5 K
LD M3. 1

M3. 2

M3. 3

M3. 4

= M10. 2

Network 10

LD T41

= M3.5

MOVW  VW110, VW212
MUL +10, VD210

TON T45, VW212
Network 11

LD T42

= M3. 6

o O O



MOVW  VW112, VW216
MUL +10, VD214
TON T46, VW216

Network 12
LD T43
= M3. 7

MOVW  VW114, VW220
MUL +10, VD218
TON T47, VW220

Network 13
LD T44
= M4. 0

MOVW  VW1le, Vw224
MUL +10, VD222
TON T48, VW224

Network 14

LD M3. 1
AN T41

LD M3. 2
AN T42

OLD

LD M3.3
AN T43

OLD

LD M3. 4
AN T44

OLD

= M4. 1
Network 15

LD T41

AN T45

LD T42

AN T46

OLD

LD T43

AN T47

OLD

LD T44

AN T48

OLD

= M4. 2

END_SUBROUTINE BLOCK
INTERRUPT BLOCK INT 0:INTO
TITLE=FH W% i %



BEGIN

Network 1 // M Z&Ax @
/] WS ERE

END INTERRUPT BLOCK



